
1

BR 1/99 1

Start?

S0

S1

S2

0

1

FSM Fig 2a

ld

en

CLK

Cntr

$ 45 $ 27 $ 35$ 30 $ 51 $ 83 $24 $ 02D

Start

Ld

En

$ 45??

S0State

$ 46

S1 S2 ??

ld

D

Q
8

8

Q[7:0]

D[7:0]

 FSM

ClkClk

ld
start

en

sclr

ensclr

BR 1/99 2

CLK

$ 45 $ 27 $ 35$ 30 $ 51 $ 83 $24 $ 02D

Start

Ld

En

$ 45??

S0

$ 28

S1 S2 ??

Start?

S0

S1

S2

0

1

FSM Fig 2b

ld

en

$ 27

ld

D

Q
8

8

Q[7:0]

D[7:0]

 FSM

ClkClk

ld
start

en

sclr

ensclr



2

BR 1/99 3

CLK

S0State

X1

X2

X3

0

0

0

Z1

S1 S1 S2 S1

0

?????

Reset
Reset forces state to S0 initially.

BR 1/99 4

CLK

S0State

X1

X2

X3

0

0

0

Z1????

S1 S1 S2 S1?????

Reset
Reset forces state to S0 initially.


